
Soustraction Avec Des Zéros (J)Calculez la différence.
100 100 100 100- 59 - 98 - 43 - 85
100 100 100 100- 3 - 31 - 16 - 52

10 100 100 100- 4 - 6 - 2 - 70
10 100 10 100- 1 - 96 - 2 - 35

100 10 10 100- 86 - 9 - 4 - 70
10 10 10 10- 7 - 3 - 3 - 6
10 10 10 10- 6 - 7 - 7 - 9
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Soustraction Avec Des Zéros (J) RéponsesCalculez la différence.
100 100 100 100- 59 - 98 - 43 - 8541 2 57 15100 100 100 100- 3 - 31 - 16 - 5297 69 84 4810 100 100 100- 4 - 6 - 2 - 706 94 98 3010 100 10 100- 1 - 96 - 2 - 359 4 8 65100 10 10 100- 86 - 9 - 4 - 7014 1 6 3010 10 10 10- 7 - 3 - 3 - 63 7 7 410 10 10 10- 6 - 7 - 7 - 94 3 3 1
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